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1. TRoORFEOWHICHELEEZAD. (SHK17408, Ak27520%, B33, C#am)

(1) BD:DC=1:1D¢ %, AABE: AACE. (2) BD=12,CD=16 Dk %, AABE: AACE.

B D C
(3 AD=84,CD=56Dt %, AABE: ACBE. (40 AD:DB=3:5,AE:EC=3:20D% %,
AACP : ABCP.
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(5) AD:DB=4:3,AE:EC=3:2D¢t X%, (6) AD:DB=8:5, BE:EC=7:6 D&t %,
AABP : AACP. APBC : APCA : APAB.
A A
D E
P
B C C
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2. THRoOMEONEICHBELZEEAD. (SH157408, A2 208, B3, C#dir)

(1) BD:DC=2:3Dt %, AABE: AACE. (2) AD=52,BD=40D¥% %, ACAE: ACBE.

A
D
B C
(3) CD:%pB:%@t%,AABE:ACEA. (40 BE:EC=4:5,CD:DA=7:40DF X,
APAB : APBC.
A C
'D B
B
(5) AD:DB=5:6,AE:EC=3:4Dt %, (6) CD:DA=7:6, BE:EC=9:50Dk %,
AABP : AACP. APBC : APCA : APAB.
A A
D E
P
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R#TA b+ EELL BHISFWIZAR 01 BRI

1. THoREoNECHEZEZAD. (SHk17408, A2 208, Bik3 7, C#k4dn)

(1) BD:DC=1:1D¢t %, AABE: AACE. (2) BD=12,CD=16D¥k %, AABE: AACE.

(3 AD=84,CD=56Dt %, AABE: ACBE. (40 AD:DB=3:5,AE:EC=3:20D% %,
AACP : ABCP.
A

(5) AD:DB=4:3,AE:EC=3:20r %, (6) AD:DB=8:5,BE:EC=7:60D¢ %,
AABP : AACP. APBC : APCA : APAB.

A

YRR WS, YoRLE WS,
APBC : APCA : APAB APBC : APCA : APAB
3 4 X2 5 8 x3
2 3 x3 6 7 x4
6 : 8 : 9 | 15 : 24 : 28
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2. THRoOMFEOWMICHELZESAD. (SHk17408, Afk27 208, Bik3 5, CHlkd )

(1) BD:DC=2:3Dt %, AABE: AACE. (2) AD=52,BD=40D¥% %, ACAE: ACBE.

(3) (4) BE:EC=4:5,CD:DA=7:40Dt %,
APAB : APBC.
(5) AD:DB=5:6,AE:EC=3:4D¥ %, 6) CD:DA=7:6,BE:EC=9:5D% %,
AABP : AACP. APBC : APCA : APAB.
A
sl
B .......... ON\enmremmm” E
YoEthE V5. Yotz v 3.
APBC : APCA : APAB APBC : APCA : APAB
6 5 X2 7 6 X3
4 3 x3 5 9 X2
2 : 10 : 9 | 21 : 10 : 18
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